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Section : General Awareness
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Section : Arithmetical and Numerical ability
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Section : English Language & Comprehension

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

Ans " 1 ITENERARY
W 2. ITINERARY
5 3.ITINERY
5 4. ITNERY

Question ID : 9767559084

Q.2 Select the word that is the opposite meaning (ANTONYM) to the word given below.

ESCALATION
Ans X' 1 RAPID

W 2. SHRINK
/% 3. INCREASE
75 4. AMPLIFY

Question ID : 9767559083
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Q.3 Fill in the blank with the appropriate word.

How | wish | could go back to a between Mahatma Gandhi and
Jawaharlal Nehru.

Ans X 1 obstinacy
x 2. assurance
J 3. conversation

x 4. backdrop

Question ID : 9767559078

Q.4 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The dues consisted of / profits made by British / capital invest in India.

Ans X" 1. The dues consisted of

X 2. No error

X 3. profits made by British

( 4. capital invest in India.

Question ID : 9767559075

Q.5 Select the most appropriate meaning of the given idiom.
"A bitter pill"
Ans x 1. Being forced into doing something one does not wish to.
( 2. A situation or information that is unpleasant but must be accepted.
x 3. To have a snitch as a companion.

X 4. An embarrassing situation which may point to a sexual intent.

Question ID : 9767559087

Q.6 Select the most appropriate meaning of the given idiom

"Elephant in a room"

Ans ( 1. An obvious problem or difficult that people do not want to talk about.
x 2. Cannot judge something primarily on appearance.
x 3. The person we were just talking about, showed up.

X 4. Do not put all your resources in one possibility.

Question ID : 9767559086
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Q.7 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

Nearly perfect

P: the sun, has an internal convective motion
Q: sphere of hot plasma,

R: magnetic field via a

S: that generates a

dynamo process.

Ans X" 1 QRSP

/5 2.RSPQ
o 3.aPsR

/5 4.SPRQ

Question ID : 9767559081

Q.8 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.

Mesopotamia encompasses
P: head waters in

Q: both of which have their

R: the land between

S: Euphrates and Tigris rivers,
Taurus Mountains.

Ans  of 1 RsaP
/5 2.SPRQ
75 3.RQPS
< 4.QPSR

Question ID : 9767559080

Q.9 Four words are given, out of which one is correctly spelt. Select the word
that is correctly spelt as per standard English dictionary.

Ans X 1. Grotegsue

J 2. Garrulous

x 3. Superintendant

x 4. Metapher

Question ID : 9767559085

Q.10 Fill in the blank with the appropriate word.

Death is and the passing of such a great rationale is always sorrowful.
Ans x 1. impeccable

x 2. assured
x 3. ignominious

( 4. inevitable

Question ID : 9767559079
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Q.11 Select the most appropriate ‘one word ' for the expression given below.

Feeling of revulsion or strong disapproval aroused by something unpleasant or
offensive.

Ans X" 1 Disguise

x 2. Imposture
x 3. Vengeance

( 4. Disgust

Question ID : 9767559088

Q.12 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

Amidst the tightening COVID- 19 lockdown, / a public transport scenario is assumed /
to be dire over the next few days.

Ans x 1. to be dire over the next few days.

#% 2. Amidst the tightening COVID- 19 lockdown,

x 3. No error

( 4. a public transport scenario is assumed

Question ID : 9767559074

Q.13 Select the word that is closest in meaning (SYNONYM) to the word given below
INDIGENOUS

Ans X" 1 WASTEFUL
#5 2. VIOLATION
o 3. ABORIGINAL

#% 4. CONTRAVENE

Question ID : 9767559082

Q.14 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

They are (habitual) to the organisers of the Sunburn 2020.

Ans " 1.no correction required
J 2. apathetic

x 3. heuristic

x 4. empathetic

Question ID : 9767559076

Q.15 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.

Children are born innumerate, illiterate and ignorant to the norms and cultural
achievements of the community or society into which they have been (thrust).

Ans X 1. inbred

25 2. fed

x 3. no correction required

J 4. actuated

Question ID : 9767559077
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

| have drawn the distinction between passive resistance as understood and practised in the
West and satyagraha before | had evolved the doctrine of the latter to its full logical and
spiritual extent. | often used “passive resistance” and “satyagraha” as synonymous terms: but
as the doctrine of satyagraha developed, the expression “passive resistance” ceases even to
be synonymous, as passive resistance has admitted of violence as in the case of the
suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover,
passive resistance does not necessarily involve complete adherence to truth under every
circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever
insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the
antagonists themselves, as opposed to violent resistance, which is meant to cause harm to
the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with
the antagonist, but instead seeks to transform or "purify" it to a higher level. A euphemism
sometimes used for satyagraha is that it is a "silent force" or a "soul force" (a term also used
by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual
with moral power rather than physical power. Satyagraha is also termed a "universal force,"
as it essentially "makes no distinction between kinsmen and strangers, young and old, man
and woman, friend and foe.

SubQuestion No : 16
Q.16 What does satyagrah seek to eliminate?

Ans X" 1. Antagonism & antagonists
x 2. antagonists
x 3. relationship with antagonist

( 4. antagonism without harming antagonist

Question ID : 9767559090

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

| have drawn the distinction between passive resistance as understood and practised in the
West and satyagraha before | had evolved the doctrine of the latter to its full logical and
spiritual extent. | often used “passive resistance” and “satyagraha” as synonymous terms: but
as the doctrine of satyagraha developed, the expression “passive resistance” ceases even to
be synonymous, as passive resistance has admitted of violence as in the case of the
suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover,
passive resistance does not necessarily involve complete adherence to truth under every
circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever
insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the
antagonists themselves, as opposed to violent resistance, which is meant to cause harm to
the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with
the antagonist, but instead seeks to transform or "purify" it to a higher level. A euphemism
sometimes used for satyagraha is that it is a "silent force" or a "soul force" (a term also used
by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual
with moral power rather than physical power. Satyagraha is also termed a "universal force,"
as it essentially "makes no distinction between kinsmen and strangers, young and old, man
and woman, friend and foe.

SubQuestion No : 17
Q.17 As per passage, 'satyagraha’ arms an individual with than

Ans X" 1. physical power; mental power
i 2. moral power; physical power

x 3. mental power; physical power

x 4. physical power; moral power

Question ID : 9767559093
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

| have drawn the distinction between passive resistance as understood and practised in the
West and satyagraha before | had evolved the doctrine of the latter to its full logical and
spiritual extent. | often used “passive resistance” and “satyagraha” as synonymous terms: but
as the doctrine of satyagraha developed, the expression “passive resistance” ceases even to
be synonymous, as passive resistance has admitted of violence as in the case of the
suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover,
passive resistance does not necessarily involve complete adherence to truth under every
circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever
insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the
antagonists themselves, as opposed to violent resistance, which is meant to cause harm to
the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with
the antagonist, but instead seeks to transform or "purify" it to a higher level. A euphemism
sometimes used for satyagraha is that it is a "silent force" or a "soul force" (a term also used
by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual
with moral power rather than physical power. Satyagraha is also termed a "universal force,"
as it essentially "makes no distinction between kinsmen and strangers, young and old, man
and woman, friend and foe.

SubQuestion No : 18
Q.18 Why is 'satyagraha’ also termed as universal force sometimes?

Ans x 1. it essentially "makes limited distinction between kinsmen and strangers, young and
old, man and woman, friend and foe

( 2. it essentially "makes no distinction between kinsmen and strangers, young and old,
man and woman, friend and foe

x 3. it essentially differentiates between kinsmen and strangers, but does not
differentiate between young and old, man and woman, friend and foe

x 4. it essentially differentiates between kinsmen and strangers, young and old, man and
woman, friend and foe

Question ID : 9767559094

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

| have drawn the distinction between passive resistance as understood and practised in the
West and satyagraha before | had evolved the doctrine of the latter to its full logical and
spiritual extent. | often used “passive resistance” and “satyagraha” as synonymous terms: but
as the doctrine of satyagraha developed, the expression “passive resistance” ceases even to
be synonymous, as passive resistance has admitted of violence as in the case of the
suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover,
passive resistance does not necessarily involve complete adherence to truth under every
circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever
insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the
antagonists themselves, as opposed to violent resistance, which is meant to cause harm to
the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with
the antagonist, but instead seeks to transform or "purify" it to a higher level. A euphemism
sometimes used for satyagraha is that it is a "silent force" or a "soul force" (a term also used
by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual
with moral power rather than physical power. Satyagraha is also termed a "universal force,"
as it essentially "makes no distinction between kinsmen and strangers, young and old, man
and woman, friend and foe.

SubQuestion No : 19
Q.19 Which of the following is correct?

Ans x 1. Satyagrah is a weapon of weak.
( 2. A satyagrahi seeks to purify the antagonist.
K 3. Euphemism for satyagrah is a silent soul.

x 4. Violent resistance seeks to eliminate antagonism.

Question ID : 9767559092
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

| have drawn the distinction between passive resistance as understood and practised in the
West and satyagraha before | had evolved the doctrine of the latter to its full logical and
spiritual extent. | often used “passive resistance” and “satyagraha” as synonymous terms: but
as the doctrine of satyagraha developed, the expression “passive resistance” ceases even to
be synonymous, as passive resistance has admitted of violence as in the case of the
suffragettes and has been universally acknowledged to be a weapon of the weak. Moreover,
passive resistance does not necessarily involve complete adherence to truth under every
circumstance. Therefore it is different from satyagraha in three essentials: Satyagraha is a
weapon of the strong; it admits of no violence under any circumstance whatsoever; and it ever
insists upon truth.

The essence of satyagraha is that it seeks to eliminate antagonisms without harming the
antagonists themselves, as opposed to violent resistance, which is meant to cause harm to
the antagonist. A satyagrahi therefore does not seek to end or destroy the relationship with
the antagonist, but instead seeks to transform or "purify" it to a higher level. A euphemism
sometimes used for satyagraha is that it is a "silent force" or a "soul force" (a term also used
by Martin Luther King Jr. during his famous "I Have a Dream" speech). It arms the individual
with moral power rather than physical power. Satyagraha is also termed a "universal force,"
as it essentially "makes no distinction between kinsmen and strangers, young and old, man
and woman, friend and foe.

SubQuestion No : 20
Q.20 Which of the following is not used for satyagrah?

Ans X 1 silent force
« 2. inner force
x 3. Universal force

x 4. soul force

Question ID : 9767559091

Section : Hindi Language & Comprehension

Q.1 ffalad uy §, TR faeeul # A, 39 e &1 9g7 o3 &) T ¢ a8 4fy fidg ot
Tt 1 9 fapeu 81
T + AP

Ans X 1 TEIGHT
o 2 THEE™
75 3. R
< 4. TSR

Question ID : 9767559095

Q.2 FPufifEd vy §, ar e § 4, 39 e o1 907 ¥ o Bige § RT T IS &
IHR HH T3 9P WA BT Had 301 [ipeu 31

LU SENCHEIEEHSICRIR el
W 2 (@) RR IS 32
25 3. () U gEe! 31 & e o i A= R
25 4. (G 9gd W @l B

Question ID : 9767559105




www.HaryanaJobs.in

Q.3 Fufafad oy, 9 e 3§ |, 39 e o1 997 o3 o T 7 v ¥ 68 9 e
o1 faweu gl

Ans " 1. 31+ AIgY
X 2.9+
X 3.9+ g
o 4. 3 + amafd

Question ID : 9767559096

Q.4 Fgfafad vy &, O faeedl § ¥, 39 [Py &1 9g7 o3 St &) 1€ Aol 1 ad) o
aren e g1

Ans X" 1 TEfied Hidt o
25 2. e A
5 3. TR SER

of & T BT STER T

Question ID : 9767559109

Q.5 fgfalad vy # aR Aol § ¥, 39 ey &1 997 o3 S e g &1 I 3T
EW%I
&

Ans X 1T
of 2. s
X 3.9P
X 4.q%

Question ID : 9767559101

Q.6 fufafad uy #, IR el #§ |, 39 ey &1 797 o3 &Y T 7 v & vafgarh W
P19 AP TS B |
faw
Ans x 1. TRd
< 2. Prge
/< 3. 59w

W 4 amaa

Question ID : 9767559099

Q7 fafafed uy d, IR el ¥ 9, 39 fawe o1 999 B oY 3T 71U gerar &1 Tgh orf
qren e g1
[ W GE -

Ans  off 1. 3t axg 1 3R 3ifie 3T B
25 2. o O B
75 3. R A
< 4. P fare

Question ID : 9767559108
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Q.8 fufafed vy &, IR faweul & |, 39 s &1 797 B o 3T T garay &1 wet o
arer fawed g1
1Y G -

Ans O 1 HIYRU A
< 2. A
25 3. TN AT
¥ PR UE L

Question ID : 9767559107

Q.9 ﬁaﬁﬂ%auaﬁ,wﬁmﬁﬁ,wﬁmmmﬁﬁﬁ?mﬁagﬁmmw
fawer g

Ans x 1. IS 3 S § YST - TH $IF 81 3R 71 18 812
25 2.3 A ST Y gRT, JH B g1 SR a1 A3 7l 2
25 3.9 A 3T A YT gH M 81 3R 1 s |
o 4. 3913 T Y GBI, "qH B & 3R 3T AR B

Question ID : 9767559106

Q.10 frufafea gy ¥, ir%ﬁm‘rﬁﬁ 39 T fawew &1 997 o8 ot Raa =i ¥ g suga
frart & Q¥ ad &) g & 3T 3P AHA §

Question ID : 9767559100

Q.M ﬁaﬁﬁ%ﬂwﬁ,wﬁwﬁﬁﬁ,wﬁmmmﬁﬁm%ﬁwmw
e gl

Ans 1 fofEd
< 2.3
S 3. T
W 4 TR

Question ID : 9767559098

Q.12 fgfafed vy ®, aR e § |, 39 fAwew &1 997 o3 o T W v & R sgaw=
gﬁmmmﬁmél

Ans & 1 gand
X 2.qar
25 3. qamsit
o 4 carEt

Question ID : 9767559104
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Q.13 fmfafEd vy &, IR el A 9, 39 98 oy o1 997 o3 <t fou 7T 2 & 0 ord
grvaﬁmﬁma‘n

Ans x1.3{ﬁ
o 2. Farh
5 3. Tmd

25 4. TR

Question ID : 9767559102

Q.14 fFgfafad uy §, IR el § Q, 39 e o1 997 o3 &) Y U g &1 | wWiferm
=7 qral fabeu g1

Ans 1 U
5 2. aoh
25 3. qufA
o 4 qufe

Question ID : 9767559103

Q.15 fgfafad uy §, R faeeul # @, 39 faee 1 ag= o3 &) T ¢ vt & forg 98
HHYRY U & faug &1 faweu g
CECaon|

Ans X 1 F@ 9 Tl
£5 2. BIP1 BT Al
X 3. 3P SR Aqar
o 4. % & A Tl

Question ID : 9767559097

Comprehension:
i fu M e & a1e 5 Uy AU T €1 39 TR &Y eHgde ug SR IR fadwed § § udd
UY &1 Faraq IR g |
TR 3T AZHR it gHaT R H TRIER 31 F8T AfRAT? gIH b €8 I AR § SR YTV Qe B
T TRER oTd § S4Td &1 T81 A1l © fob SATaT 80t T ! TR a3, df 3! Tee
Qe & S SR M 3 diedt ff, I WoRT ) TgAR Bt & = H are fpar Sfrar 21
ufye ST ® 39 Ud &1 9 Sia i o 31 39 T Yee-gas a et $1F HUS IR Bdll &
BR UG TSH! IR I-07 AR Siat giofaT & J b 1fid 71 § SfR e €1 39 SR anT
T g W 91 1 S1ad €1 Uiy §e § 9% Ud 1e1-51 Y gafid 8| Ta § 9 ud &l R
& = H 7T o g1 gt W T & 1Y |l T 3R Wb Tt T Sd | ar 7 faesft
f WAR R Eielt &1 Geh I3 St 8| HERTY § gl uid A dw Weft Sicht 81 gfere gt o1
g’sﬁnﬁaﬁ’r%mﬁmﬁwm%l T IR TR TgT AN Hd 3R oI IR AT 3T H 3
|

SubQuestion No : 16

Q.16 FEAR grei o wwifia 82

Ans 3 1 WM W §
/X 2. Afgeneli ¥
W 3 v PO
25 4. e fawg 9

Question ID : 9767559111
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Comprehension:
Fr faw T eI & 91 5 Uy fAU T § | 39 TR & e9Ydes ug SR IR fadwed! d 9§ udd
Uy &1 Farad I g |
YT 1 AEHR et g 1R B IRIgR 7| gt et geel &1 §8 ¥ AR § 9fR U3y Ge H
T TEER eldl § s1d 8| I8i A ¢ & Hiar poor Mgt o) TR &R 3, o 3! Te@e
ATt § T gBR Mt 38 et o, 3T IRURT 1 TGAR Bieht & U F F1e {31 et g1
UfEm s B 59 od &1 A Siat gftfr ot 81 59 o gas-gee o WiTeT 91 F $US SR Hal &
TR UgPR Ygb| W arg-47 A3 sl it A 9 e i T & ok T €1 39 SR T
T g W 1 1 S1ad €1 Uiy §e § 9% Ud 1e1-501 Y gafid 8| War § 9 ud &l R
% = H 7T o g1 gt W T & 1 |l T 3R a7t T od & | ar § faesft S
f AR R Eielt &1 Gh I3 St &1 HERTY H gl uid A dw Wefl el 71 gwferg gt o1
gﬁ@ﬂaﬁ%mﬁsﬂwwélsﬂwmmmrﬁaaﬁ?wmaﬁmﬁsﬁ%
|
SubQuestion No : 17
Q17 59 DT T HIS SUTH Hfp-
Ans K1Waﬁ@?ﬁ
F R ok
e FFE W

X 4. pu ! el

Question ID : 9767559115

Comprehension:
¥ fu M e & a1e 5 Uy AU T § 1 39 TR &Y eHgde ug SR IR fadwedt § § udd
U% &1 Farad IR g |
TYRT 1 AEHR et g 1R B IRIgR 7| gt Hfeant geel &) §8 ¥ AR § 9fR U¥Y Ge H
T TEER eld § 1d 8| I8i A ¢ & Hiar poor Mgt o) R &Rd 3, o 3! Te@e
ATt § T gBR Mt 38 et o, 3T IR &1 TGAR Bieht & U F A1e a1 et g1
ufye sre & 59 Ud &1 9 Sia gfofan o 31 39 T Yes-gas a et $1 % HUS IR Bdl &
TR UgHR Ygb| W arg-47 A3 s Yo I 9 die i T & iR T €1 39 SR T
TH g W 91 1 S1ad €1 Uiy §e § 9% Ud 141-51 Y gafid 8| War § 9 ud &l R
& = H 7T oA g1 gt W T & 1 |l T 3R Wb Tt T Sd | ar F faesft
f AR R Eielt &1 Geh I3 St 8| HERTY H gl Ui A s Jeft el 71 gferg gt o1
gﬁ@ﬁaﬁ%mﬁﬂﬂwwél T IR W TgT AN 1 3R oI IR AT 3T H 3
|

SubQuestion No : 18

Q.18 Ry 75 ud frw Irsa & weTan wirar 372

Ans KTWﬁ
F A LRIEG
o 3 Tard
A 4 Sy #

Question ID : 9767559113
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Comprehension:

i fu M e & a1e 5 Uy AU A €1 39 TR &) eHgde U SR IR fadwedt § § udd
UY &1 Jarad IR |
TRT B AEHR et g 1R § IRIgR 7| gt Hfeant g3el o) §8 ¥ AR § 9fR U¥Y Ge H
T TRER oTd § Sa1d &1 T81 A1 @ fob ATaT 807 T ! TR a3, df 3! Tee
Qe B & SR M 32 diedt &, I WoRT &) TgHR it & = F g fhar Sfrar 21
uf¥m e B 39 ud &1 | Siet gfofar of 1 39 o ges-gae @ 4iar 1 % HUS ok Tal &
BR UGIR YSH! W -3 A id oA § oS dlics Mid 7a § IR A §1 39 SR onT
T g W 91 1 STad €1 Uiy §e § 9% Ud 1e1-50 Y gefdd § | Wa § 9 ud Bl R
P =Y H 7T oA g1 gt W 30 & Y Al T 3R Wb T T Sd | ar F faesf Jar
f AR R Eielt &1 Geh I3 S &1 HERIY H grelt Ui A o Jeft el §1 gwferg gt &1
?@Tﬂﬂtﬁ%wﬁsﬂmmél Y TR W TgT AN d 3R oI IR AT 3T H 3d
|

SubQuestion No : 19

Q.19 St gfaT FI f5T UHR T= a1 STaT 8§ 2

Ans 3 1 TH-gWR W UM SR
5 2. WA Y U HRp
of 3. 7fd TER TEER
7< 4. ARERY WS SR

Question ID : 9767559112

Comprehension:
) fou M e & a1e 5 Uy AU T § 1 39 TR &) eHgde U SR IR fadwedt § § udd
U% &1 garad IR |
YR P AGAR Bl a1 R H ARG ¢ | I6! Afgand J3ul & S8 4 AR & 3R Jo¥ G& &I
T TRER oTd § S41d &1 T8i A1l © fob ATaT 5801 T ! IR R &, df 3! e
Qe & & SR M 32 diedt &, I WoRT ) TgHR Bt & & F e fhar S 21
uf¥m e B 39 ud &1 A Siet gfofar of 1 39 o gas-gae anT et 1 % HUS 3R Tal &
BR UG} YSH! W -3 A id AT § oS dlics Mid a § IR A §1 39 SR it
T g W 91 1 STad €1 Uiy §e § 9% Ud 1e1-501 Y gefdd 8| Ta § 9 ud &l R
F =Y H 7T o g1 gt W T & 1Y Al T IR Wb g T ofd | ar § faesf
f WHAR R Eielt &1 Geh I3 S 8| HERTY H gl uid A o Jeft el 81 gfers gt &1
?@Tﬂﬂtﬁ%wﬁsﬂmmﬁl T TR TR TgT AN 1 3R oI IR AT 3ATe H 30

|
SubQuestion No : 20

Q.20 379 & P - A1 wHita o1 vafgardt 78 32
LU R

25 2. wifia
25 3. sfftfa

40P

Question ID : 9767559114

Section : Discipline1

Q1 fEfifEd & | SH-91 T T USSR e 872
Ans X 1Ry

X 2. T ()

o 3. T

X 4. 79 ()

Question ID : 9767559131
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Q.2 fafifed & A S e F3 ard ugsi F Ue $T aad g7 fun 32
Ans X 1. SitferepT (dfegperm)

< 2. 3 ST (i)

W 3. T SR (S 8)

25 4.9 ST (TSTHEH)

Question ID : 9767559133

Q.3 fRyfefad & ¥ SF-91 U dF & WIY-9T1Y 4 & BT ATH 47 82
Ans X1yl (2fpam)

25 2. Fe (Afew)

X 3. e (€EtT)

o 4 T (i)

Question ID : 9767559130

Q4 fgfafead & ¥ #F-a1 sRaRArefiage 1 ger o 82
Ans  of 1. 3iiciier BT uRkae

5 2. 351G B AT
5 3. SFaRI B URREN $ dgR FAM
7< 4.1 & ydb S T Hag BT

Question ID : 9767559126

Q5 YT F red U H R siswiv Te Ao & i & g 2
Ans X1 J5R ¢S By frr & R

W 2. 3iSHINT & SeR &1 § qu-FromE % g

X 3. SieHI B S R 7 v ¥ g

75 4. SSHIN P HHR TG F fo1g

Question ID : 9767559116

Q.6 I (SBIR) B AT yriRIARS &t § fyurfora fvar war 81 Fafafeae § @ #-
1 IR BT URT R TS E @2

Ans th
V 2. 5 ()
25 3. 7T (WRas®a)

/5 4Ty

Question ID : 9767559121

Q7 fafafad # Q $19 0 TR 't TR (GfYP S1H) BT HRT 81 872
Ans (1 QRIfFdEIRY (faw)

W 2. 31 (FmR)

X 3.3 @1 5l (ferm)

25 4. SmERY (3fEaTm)

Question ID : 9767559117
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Q.8 What is the name of unique Very large, blunt, irregular-shaped process found on the
femur?

Ans ( 1. Trochanter

X 2. Trochlea

75 3. Patella
x 4. Spine

Question ID : 9767559119

Q.9 frufafad # V F1H-91 Iaauesd GA & YFP’ I H Hag Bl 82
Ans " 1 3R

W 2. @ede

< 3. eiRmAIftha

5 4.8

Question ID : 9767559125

Q.10 What is the optimum/ recommended moisture content of silage to be stored and later
used as animal feed?

Ans ! 1. 60-70 percent
x 2. 45-48 percent
X 3. 35-37 percent
x 4. 15-20 percent

Question ID : 9767559134

Q.11 &y fRufa &1 g ((TTfan & SrEr wrar 82
Ans X 1 STeh dA T BT

X 2. e A BT

75 3. Pt @ o

o 4. Gfg R A B3

Question ID : 9767559127

Q.12 Pl § @ fpd et S arell uggelt T srrelt G ST orar 22
Ans X 1. SfeT Rfegpam)

25 2. T SR ()

25 3. TUH IR (F5H)

o 4. =gy s (wEEEw)

Question ID : 9767559132

Q.13 Which of the following is the longest nerve of an animal body?
Ans " 1.Saphenous

75 2. Median
/% 3. Radial
o 4. Sciatic

Question ID : 9767559120
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Q.14 g A @ frad Hwse (SawM) Hisg T8 a1 27
Ans  of 1 uferi @

25 2. asi A
25 3. e X ATt ugeft H
25 4. e T8 B Al ugeht H

Question ID : 9767559128

Q.15 Which of the following is the synonym of the ‘growth hormone'?
Ans x 1. Oxytocin

X 2. Prolactin
“ 3. Somatotropic hormone

X 4. Thyroid stimulating hormone

Question ID : 9767559124

Q.16 Fgfaf@a & A S19 g8 Te1 3R IR [e1 S 99 U PR & w0 § &1l Hear 82
Ans " 1 T TR (FHH)

X 2 faa

3. AT (srmm)

X 4. oSt

Question ID : 9767559118

Q.17 fgffEd # ¥ F9 TP SR & IWR T Ja4 787 31872
Ans X 1. W SfHTR ()

W 2 @

75 3. fofw

X 4.7

Question ID : 9767559123

Q.18 BI-t 4w g P Iad P ATYf UG PRl 87
Ans X 1 SfgSIHR dled

75 2. 3uIfee gl
2% 3. wrdefed weTemt
W 4 PR e

Question ID : 9767559122

Q.19 T BT AT pH HF FTHT faT gar 272

Ans  of 1 74
K5 2.69
5 3.8
K467

Question ID : 9767559129
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Q.20 PufifEd & A #19 qa tive da T8 872
Ans “1,@

£ 2.qm

p R Iic

p R

Question ID :

9767559135

Section : Discipline2

Q1 Fyfafad & ¥ S9-91 70 TR gee & IR ¥ W6 T8 82

Ans " 1. farrar - el
75 2. e @t @l - Tueiiae
5 3. goga - iR
W 4. T - siiRice

Question ID :

9767559136

Q2 WRAHFRI___ gl
Ans  of 1 e

X 2 R

X 3. fElga

/S 4 SRS ¥R

Question ID :

9767559137

Q.3 fufafad # @ #19 YRd § 7R @ iy 7w T8 272
Ans “‘LGﬂﬁ

2% 2. wifgar

X 3R

X 4. wma Rieh

Question ID :

9767559145

Q4 f5u dTiFie A Wiplas oo & Risia vl fear @2
Ans X 1. gicad iR fohe

W 2 T s
X 3. IR SRH Hed
P R e

Question ID :

9767559154

Q.5 qTd YR 3REdT (rere T feas SR giar 82
Ans  of 1 SRA I I

/< 2. Ficzrm ot H
5 3. BRBRY B fauraraar
25 4. TR @t fasTean

Question ID :

9767559138
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Q.6 TR P} TTARIB TSR BT Ig B4 HRal 82
Ans X 1 HifreT fRT

W 2 S
£5 3. 3RTTY
X 4. GBI (AT

Question ID : 9767559155

Q.7 Jq HIRGT F SeareH I F g vafe Hiser w@R e §2
Ans X 1.1 5o wigan3 e gy

25 2.2 fur wigan2.5 e gy
W 3. 1 foon wigan2.5 e g
25 4.1 o wisan2 feom gy

Question ID : 9767559139

Q.8 et &1 fg-pefer (Saa eftrey) Aisa fam far 82
Ans X 1 T SIfdA

< 2.Orfq
75 3. R e Hed
of 4 dicT SR e

Question ID : 9767559153

Q.9 What is the incubation period in chicken eggs?
Ans  of 1 21 days

x 2. 27 days

75 3.35days

75 4.18 days

Question ID : 9767559146

Q.10 ?ﬁ%ﬂﬂgﬁ%a@%maﬁmﬂ%aﬁﬁ,mﬁﬁﬁqmﬂﬁ
?

Ans 1 X H 21 e iR g A6 faA
X 2. dRF 15 R R Fm A 3 A
X 3R A2 e iR g A2 A
W 4 IRT18RTMRIRA3 A

Question ID : 9767559147

Q.11 fafeerat & forg soedt et sifrard ordfi= ot &:
Ans x 1. TASRA

p SR REIEE]

/5 3. afE

4.8

Question ID : 9767559141
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Q.12 i & S fEauify ok Rgarfe-ht frarha gt @2
Ans X" 1 7E fEaufy, s fREqareht
X 4. o7 ey, o1 fewaeht

Question ID :

9767559149

Q.13 {5 % areht ¥ & gy & Ted ifire a s a1 32
Ans X' 1 g

¥ FRIGCH]

25 3. A fa

X agdf

Question ID :

9767559144

Q.14 AR & S® B9 82
Ans & 1 Tfiiq

75 2. dfced 3R fbds
o 3. IR S Aed
25 4. 9 S

Question ID :

9767559152

Q.15 fAgfifed & @ $19 IR 1 7= a9 T 82
Ans x 1. AN BISR

S 2.

W 3. sifwieH

75 4. Suispd UIeH

Question ID :

9767559140

Q.16 T T RET a1 S-SR & STl 81
Ans x 1. 9T

W 2 T
75 3. mash
X 4

Question ID :

9767559142

Q.17 3frwefra arl & |1y o wi ¥ e fra e & gif-gfifatl ulre &2
Ans X 1 AR

S 2. FEA

X 3.5

o 4 FsHTY

Question ID :

9767559148
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Q.18 fuffad # ¥ B9 Hax yoiiaal $1 agt qui w1 372
Ans X 1. T (Tigon) = HIGT &T9 + R W

o 2. <57 (Tigon) = TR T4 + AIGT TR

x 3. Slid1 (Zonkey) = SISRT + Gl

75 4. TR (Liger) = TR 19 + A& IR

Question ID : 9767559151

Q.19 PrgfifEa il & gad ded guifaa gt 81 399 @ #19 iy (amrE) & SRR

areft ARt T8 82

Ans " 1 IFREd T
X 2. 7R

W 3. gERE I

25 4. ia diag

Question ID : 9767559150

Q.20 Qg #a=h BT AP A4 FT 82
Ans  of 1 STafeay

/X 2. Furfedy

< 3. geau g™

S 4. gy

Question ID : 9767559143

Section : Discipline3

Q1 fyfofed & ¥ #9 ue Mg 82
Ans X 1 Trfifi

W 2. |

Z5 3. SumEA

25 4 Ut

Question ID : 9767559158

Q2 UH 31 A fpa aoY-gaival gl 82
Ans X" 1. 15 §HREL, 1 FH

o 2. 10 IRl 1 T
25 3. 12 THAT, 1 FH
25 4. 18 BT, 2 FH

Question ID : 9767559167
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Q.3 Froafafld § A $9 TR g0 (TRISYH TeyH ) Tl 31U THR T8 82
Ans X 1. wg

< 2.7 fafy

o 3. o ffey

25 4. safda fafy

Question ID : 9767559163

Q.4 g fRufa & efmwi= fear sirar 82
Ans  of 1 digufear @mafe)
< 2. THT (3
5 3. I XA (FTRURCTA)
X 4. gerslf

Question ID : 9767559160

Q5 ftpm R & frerer Fslia =i §2
Ans X 1. Rigqor e T

5 2. sfmE

75 3. Ruefor gfaerd

W 4. fendf

Question ID : 9767559164

Q.6 UY 3R IHS TUREF HEI HI I a1 HE H BI-97 32
Ans X 1 §&H-70

o 2 554

5 3. Tash (mWeF)-40

75 4. 918160

Question ID : 9767559156

Q.7 Y T IY FRd WY {59 Y F A1 g faftr &1 urers FRad 82
Ans x 1. 9gar

25 2. Qe

5 3. Rew

V 4 o%m

Question ID : 9767559174

Q.8 1959 H YT 31T T IguTe fora- fwar Y12
Ans o 1. TR A TEE

/X 2. TCER T HIE Ued

£5 3. TRTe e

25 4. SR ST

Question ID : 9767559165




www.HaryanaJobs.in

Q9 T wis i for af Y= fdar war ur?
Ans X 11980

W 2. 1970

5 3.1960

< 4.1965

Question ID : 9767559168

Q.10 fre SR & wad 31w SR wfasra grar 22
Ans x 1. 98

W 2. TR

p R ACEa]

25 4. TR [ Mem)

Question ID : 9767559172

Q11 o5& ' Hifd BT S /AT AT 32
Ans ( 1. it pia

£5 2. g et

75 3. 0.0, WA

25 4 AR orfe SRa

Question ID : 9767559169

Q.12 fH +ft ¢ foaR &) T g U= aTel SAfoRd DI T BT ST 82
Ans x 1_%@(@1-"@?)

25 2. e Aaifed

3.7 FRe)

25 4. RN IURIGS (el TSTER)

Question ID : 9767559166

Q.13 9oR ® fireA a1 urerq uxgelt & Wie § R W fhw @ uhRelt (ws fiwdfea)
IuaNT foar ST 82

Ans " 1 AFNITEEH e
< 2. 9 e
W 3. 35S ot
25 4. SR s

Question ID : 9767559157

Q.14 &R TR R (TFIe A TSYHRH) BT S-S AT T4 32
Ans X 1. e SR fobp

X 2. ST
75 3. P dSEIR
W 4. o S

Question ID : 9767559162
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Q.15 Veal is a meat of which of the following animals?

Ans  of 1 calf
5 2. Pork
X 3. Cattle
X 4. Deer

Question ID : 9767559175

Q.16 3ot TPl B GERT A IgaR A B AT B UGRI Y 791 BT ST 82
Ans X 1 ifa-fRaret

X 2 o

X 3 Wl

W 4 TS e (uARdem)

Question ID : 9767559171

Q.17 ;ﬁﬂrﬁ%aﬂ%%mﬁaﬁmﬁmaﬁ%mﬁ%mﬁmww
?
Ans  of 1 6T 1012 o

£ 2,10 foFe ® 5 foan
25 3. 14 fiFe ® 14 fom
25 4. 20 fe ® 15 fm

Question ID : 9767559173

Q.18 fgferfead & ¥ #IF ts §Hl-ahae $ U d S Ha1 82
Ans X 1. TRy Hehe

o 2 vEEETe

75 3. Rofbaw

5 4. SEHIRE

Question ID : 9767559161

Q.19 IS B B § BT favTe d Hielg glaT 82
Ans  of 1 R

75 2. frre

25 3. e

#< 4. Toraw (2fse)

Question ID : 9767559159

Q.20 Which of the following is the correct sequence of the marketing channel?

Ans ( 1. Producer-Broker-Wholesaler-Retailer-Customer
x 2. Customer-Retailer-Producer-Retailer-Customer
X 3. Retailer-Wholesaler-Producer-Broker-Customer

X 4. Producer-Retailer-Wholesaler-Customer

Question ID : 9767559170




www.HaryanaJobs.in

Section : Discipline4

Q.1 Bid TEPIgs TH SR & &t B guTfad St B
Ans X" 1 TRl (M)

K20

VRS

K 4. T

Question ID : 9767559185

Q.2 Which of the following is the primary sex organ of the female reproductive system?
Ans x 1. Cervix

x 2. Uterus
X 3. Vagina
“ 4. Ovaries

Question ID : 9767559193

Q.3 fgfifEa & @ Tad g Bt uga BY)
Ans x 1. gAR (Fred gIeeR) - il T & oY Y2 &l gavgT

25 2. ymeR TERT (S BRIW) - Y B U e SR YaauTd Bl AP & g
W 3. T T (R BRIAW) - Sl & el & forg
25 4. B (RFed) - JdP B 180 Had & g

Question ID : 9767559190

Q.4 IFqErd! gfesiiaraadn (@ufe SRifEn) &1 RS $11 872
Ans X 1 Had (BTN

o 2. Sfary §adifen)

< 3. fawmy (@)

75 4 Ticksnan

Question ID : 9767559181

Q.5 According to the area of spread, the diseases that have worldwide distribution are
called:

Ans X" 1. zoonotic diseases
x 2. endemic diseases
“ 3. pandemic diseases

x 4. sporadic diseases

Question ID : 9767559180

Q.6 Which type of diseases have the shortest duration?
Ans  of 1 Peracute disease

X 2. Acute disease
x 3. Chronic disease

X 4. Sub-acute disease

Question ID : 9767559179
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Q.7 Which of the following is the absorbable surgical suture material?
Ans & 1 Silk

x 2. Nylon
X 3. Cotton
“ 4. Catgut

Question ID : 9767559186

Q.8 wyw TR (FA) A A Frprem F e fre Suwvor &1 Sy faan wimar 82
Ans 2 1| ) TE (SED HRI)

W 2. SR A e

X 3.38 @)

72X 4. afésh

Question ID : 9767559189

Q9 g ¥ A B TP Tg-US--aP 19 (Urehueesd) Uy 872
Ans x 1. T

5 2. STelt SR
X 3. gl
4

Question ID : 9767559194

Q.10 What is the use of the artery forceps?
Ans “ 1. To check the bleeding by pressing artery at the time of operation

X 2. To drench medicines to small animals
X 3. To open the abscess

#5 4. To hold the tissue

Question ID : 9767559188

Q.1 Hrar-far & 3991 Gar § e areh Sl o wer arar
Ans X" 1. ST I

25 2. uftRan 3w
o 3. dTT R
25 4. Jurffa I

Question ID : 9767559177

Q.12 Tt Y= 95 & AT P el SIrdl 8:
Ans o 1 W faw (meAwiarsh)

25 2. vfoRen fagm @wgarsn)
X 3. 99 fagm (wrareh)
X< 4. R (Gt

Question ID : 9767559192
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Q.13 Ay ¥ 9 forw fRufa & o= S Q=) ST w4 fFar srar 82
Ans  off 1. Hf3Tra (R

25 2. 3-SRy
5 3. pa (e
75 4. Pl

Question ID : 9767559191

Q.14 fmfafEa & & $19 e (FRAa féuh) o1 vafaard 22
Ans X 1 9T S(UE

W 2. e (e

5 3. YR 309

X 4. 3E-3RY

Question ID : 9767559183

Q.15 Inflammation of the udder is known as:
Ans x 1. cystitis

5 2. arthritis
x 3. nephritis

“ 4. mastitis

Question ID : 9767559184

Q.16 In Muslims religion, the consumption of _____is forbidden.
Ans “ 1. pork

x 2. chevon

X 3. beef

X 4. veal

Question ID : 9767559176

Q.17 Which of the following is the non-absorbable suture material?
Ans X" 1 Fascia lata

X 2. Polyglycolic acid
x 3. Catgut
“ 4. Cotton

Question ID : 9767559187

Q.18 Which of the following is a type of infectious disease?
Ans X" 1. Metabolic disease

“ 2. Viral disease

X 3. Poisoning
X 4. Deficiency disease

Question ID : 9767559178
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Q.19 Which of the following is an incorrect pair?

Ans “ 1. Vermicious pneumonia - Heart worm
X 2. Dirofilariasis - Heart worm
x 3. Spirocercosis - Oesophageal worm

x 4. Thelaziasis - Eye worm

Question ID : 9767559182

Q.20 e Hfaar o1 amarg TETd 7 32
Ans X 1. 902

o 2621
/5 3.50 e
X 430

Question ID : 9767559195

Section : Discipline5

Q.1 Which milking method should be avoided while milking?
Ans X 1. Milking machine

o 2. Knuckling
75 3. Full hand method

X 4. Stripping

[ Question ID : 9767559211

Q.2 gyl # e Py R (Feargye 1iR) R wet war 82
Ans x 1. R (WRe) Uy

5 2. PRE

p R AL

W 4 PRI

Question ID : 9767559203

Q.3 fPufifEd & A 919 o uy Bt ugar &1 after T8 82
Ans (" 1 SRS

of 2. ST T aTE T

25 3. SRAT

2X 4.7

Question ID : 9767559213

Q.4 The break in the continuity of a bone is called:
Ans & 1 fistula

X 2. sinus
“ 3. fracture
x 4. wound

Question ID : 9767559208
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Q.5 Which is NOT the correct pair representing animal and its approximate gestation
period?

Ans X" 1. Sheep - 145 days
Z5 2. Buffalo - 310 days
75 3.Pig - 115 days
o 4. Cattle - 300 days

Question ID : 9767559214

Q.6 fru#d | o gallte gy Iares 398 wawh 22
Ans “ 1. DA TR

75 2. SRRRIER

25 3. ot

25 4. 53 fam

Question ID : 9767559215

Q.7 gofal # mufawn fFem & g fra vsfa &1 =i fear smar 82
Ans x1azlaﬁ:ﬁqﬁ&rm

o 2. S ufveei (TsEifta dedm)

75 3. TS e

25 4. TR Ui (e IeM)

Question ID : 9767559198

Q.8 g yenfy & &-3TPR B THiE g 87
Ans B 1 TR (Mem)

W 2T

5 3. ol

X 4.3

Question ID : 9767559200

Q9 fm A Y frad R & T & ATHR FT ST FaT 82
Ans x1fﬁ?ﬁ

K 2.

o 3.8

F RS

Question ID : 9767559201

Q.10 yxfifea o & fRre faerer= arawr= @:
Ans  off 1.37-40°C, 30 e dB

£5 2.30-34°C, 50 ¥HE TH
75 3.20-22°C, 2 e d&
5 4.50-52°C, 10 ¥ S TH

Question ID : 9767559199
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Q.11 Which of the following is called as the 'neck of the womb'?
Ans &1 Uterus

“ 2. Cervix
X 3. Vagina

X 4. Fallopian tubes

Question ID : 9767559205

Q.12 g &  fres 2riq T (g o) it o 32
Ans  of 1 U7

25 2. oo

X 3.

X 4T

Question ID : 9767559206

Q.13 i we ¥ fore frw wwra Y wrufirean & st @2
Ans X 1 QUG & 3 T

25 2.31d ¥, 5 PSS R TG/

W 3. Te ¥, IR Ream (i)  ugdt

25 4. AUR, IR FIAH (WIS F 918

Question ID : 9767559209

Q.14 Sq quOr I H qUUr IaRA F et g &, o I 71 FeT o 32
Ans X" 1 I HIRA

“ 2. TIgordT (fﬁogl@?ﬁ%\ﬂ-l)
75 3. 990 (Shieq) g
75 4. SURR POt

Question ID : 9767559212

Q.15 Which is the first stage of parturition?
Ans x 1. Involution of uterus

“ 2. Dilation of cervix
x 3. Delivery of newborn

X 4. Expulsion of foetal membrane

Question ID : 9767559196

Q.16 Which of the following is the primary sex organ of the male reproductive system?
Ans X" 1 Penis

x 2. Ovary
“ 3. Testicles

#< 4. Epididymis

Question ID : 9767559202
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Q17 YEY TSI dF $ T B FT HYT AT 32
Ans  off 1 <l (g

25 2. TR fa9H (A

7 3. 39 a9 (wpraiion)

25 4. uftRen fag gRgavron)

Question ID : 9767559204

Q.18 When an animal is made to fall down and its legs tied, then this is called:
Ans  of 1 casting

x 2. anaesthesia

X 3. restraint

x 4. sedation

Question ID : 9767559207

Q.19 Which method of artificial insemination is used in cattle and buffalo?

Ans X" 1. Corkscrew method
X 2. Vaginal method
“ 3. Recto-vaginal method

X 4. Vaginal speculum method

Question ID : 9767559197

Q.20 gur= g3l & frat IR gg- 91y
Ans X 1 59 oft T it

W 2 Fafd SR F Ty A A arda SR
X 3. fAA @ aR
< 4. TP IR o1 I B

Question ID : 9767559210
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